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Financial Statement Ratio Analysis 

Financial statements as prepared by the accountant are  documents containing 
much valuable information. Some of the information requires little or no analysis to 
understand.  If the income statement show an operating loss, the seriousness of that 
problem is fairly self evident.  However, for the most, part some analysis is required 
to fully understand the financial condition of a company. In this chapter, an important 
tool of financial statement analysis will be presented, ratio analysis.  Another financial 
statement analysis tool, the statement of cash flow will be presented in the next 
chapter.

Ratio Analysis of Financial Statements 
There are three groups of individuals that have a keen interest in financial 

statement analysis: (1) Investors are interested in financial statements to evaluate 
current earnings and to predict future earnings. Financial statements influence 
greatly the price at which stock is bought and sold. (2) Bankers before granting loans 
usually require that financial statements be submitted. Whether or not a loan is made 
depends heavily on a company’s financial condition and its prospects for the future. 
(3) Perhaps the group that has the most interest in financial statement analysis is 
management. Management needs to discover quickly any area of mismanagement 
so that corrective action can be quickly taken. Also, financial  statement analysis can 
provide support that the past decisions made have been the right decisions.

Financial statements in addition to showing the results of operations also show 
the effect of specific decisions.  Each element of the financial statement as discussed 
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in chapter 2 has one or more decisions underlying it. Financial statement analysis is 
one approach to identifying and evaluating these decisions.

If profit is adequate or more than adequate, is it still necessary for management 
to analyze the financial statements closely? The answer is yes. Even though profit 
is satisfactory or excellent, this year’s set of decisions may have set in motion 
forces which, unless counteracted, may have future disastrous consequences on 
profit and survival success. Also, poor performance in just one area could eliminate 
any future profit.  Unless corrected, mismanagement in just one area will eventually 
result in poor performance in other areas. In Figure 17.1, the consequences of poor 
mismanagement is indicated:

Figure 17.1 • Consequence of Poor Decision-making

Business Function Nature of Mismanagement Possible Consequences in other 
Functions

Production Inadequate capacity
Poor quality of material

Marketing   -   loss of sales
Marketing   -   loss of sales

Marketing Inadequate credit
Excessive prices
Inadequate advertising

Production
	 Unused plant capacity
	 Unused plant capacity
	 Excess inventory
Finance
	 Funds shortage

Finance Excessive debt Finance	 -	 decreased ROI
Finance	 -	 poor credit
Marketing	 -	 loss of sales
Production	  -	 inadequate inventory; 

The survival of the business in the long run requires a balanced and coordinated 
effort in all business functions. Broadly speaking, it is management’s task to manage 
the capital of the business; that is, the resources, (assets) and the sources of assets 
(debt and equity capital). In general, there are five broad areas as indicated by 
financial statements that must be managed: assets, liabilities, capital, revenue, and 
expense.

What are the financial statement tools that are available to discover broad areas of 
mismanagement that need corrective action? The major tools as typically presented 
in books on financial statement analysis are:

1.	 Ratios analysis
2.	 Trend analysis
3.	 Common size statements

In this chapter, we are primarily concerned with ratio analysis. The ratios that 
have been recognized to be of value or are following:

Income Statement Ratios
	 Operating ratio
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	 Profit margin percentage	
	 Gross profit percentage

Balance Sheet Ratios
	 Current ratio
	 Debt/equity ratio

Inter statement ratios
	 Return on investment (assets)
	 Return on Investment (equity)
	 Investment turnover ratio
	 Inventory turnover
	 Accounts receivable turnover
	 Earnings per share
	 Price earnings ratio

Management should be concerned with good management and decision making 
in every element of financial statements. For example, the appropriate use of ratios 
is indicated in Figure 17.2

Figure 17.2 • Matching of Ratios and Decisions

Decision Area Where Specific Ratios May be Used

Areas of “Capital”: Management Ratios that may be used

ASSETS

	 Current assets Current ratio
Quick ratio
Inventory turnover

	 Fixed assets

LIABILITIES

	 Current liabilities Current ratio

	 Long term liabilities Debt/equity ratio

CAPITAL

	 Contributed capital Earnings per share
Book value per share
Price earnings ratio

	 Net income Return on investment (assets)
Return on investment (equity)
Profit margin percentage
Gross profit percentage

A ratio is a quotient of one magnitude divided by another of the same kind.  It is 
the relation of one amount to another. A ratio may be expressed in different ways.  For 
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example, if an a given organization the number of men and women are 80 and 20, 
then respectively we could say:

Men are 80% of the organization (80/100)
Men are .8 of the organization
The ratio of men to women is 4:1
Men are 4/5ths of the organization

Concerning financial statements absolute values are often difficult to grasp and 
remember. Amounts on financial statements in many cases are more meaningful when 
compared with other amounts. For example, if the number of men in an organization 
is 4,092 and the women are 1,023, it would be easier to say that men are 80% of the 
organization (4,092/5,115) or that they out number the women 4 to 1.In some cases 
ratios make predictions possible. Some ratios tend to remain constant from year to 
year. If variable expenses have averaged 80% of sales and if we predict sales will be 
$1,000,000 next year, then we are able to say that we expect variable expenses to 
be $800,000.

Our objective now will be to define and discuss some of the more important 
ratios.

Current ratio - The current ratio is:

	 Current assetsCurrent ratio   =	 –––––––––––––––
	 Current liabilities

This ratio is almost always of critical importance. It provides an indicator of the 
ability to pay short-term debt. In accounting, the different between current assets and  
current liabilities is call working capital. If current liabilities exceed current assets, 
then at that moment in time the company is not able to pay in full its current debts. 
Inadequate working capital has been cited as one of the major reasons businesses 
fail. That the ratio should be greater than 1 is universally agreed upon.  But how much 
greater than 1 remains the question. A general rule of thumb is that the ratio should 
be at least 2:1. However, differences in industries and management decision-making 
may require a considerably different standard ratio.

It is possible to approach the current ratio from two different viewpoints:
1.	 A banker’s viewpoint
2.	 A management viewpoint

From a banker’s viewpoint the higher the ratio the better the ratio. A high ratio 
indicates a high degree of liquidity and a better ability to repay short term debt.

From a management point of view, the real issue is not the ratio itself but the 
factors that create the ratio. Accountants tend to define working capital as current 
assets less current liabilities. From a management’s viewpoint, the questions are: 
(1) What are the decisions that directly affect current assets and (2) what are the 
decisions that affect current liabilities?

Concerning current assets, the major elements are cash, accounts receivable, 
and inventory. The decisions that affect current assets most directly were discussed 
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in chapter 2.  Accounts receivable are created by the use of credit terms and inventory 
levels are largely determined by order size and safety stock decisions.

In most cases, the most important short term debt is accounts payable. The 
amount of accounts payable is generally determined by the credit terms that supplier 
offer.  If a company, for example, purchases $1,200,000 in raw materials each year 
and the creditor offers 30 days to pay, then the on the average we would expect 
accounts payable to be $100,000.

A business that has a considerably higher current ratio than another company 
is not necessarily in a better financial condition. To illustrate, let us assume the 
following:

	 Company A	 Company B
Current Assets
	 Cash	 $  1,000	 $20,000
	 Accounts receivable	  $  9,000	 $15,000
	 Merchandise inventory	  $30,000	 $  5,000	 –––––––	 –––––––
		  Total	  $40,000	 $40,000
	 –––––––	 –––––––	 –––––––	 –––––––
Current Liabilities
	 Accounts payable	 $15,000	 $  5,000
	 Notes payable	 $  5,000	 $25,000	 –––––––	 –––––––
			   $20,000	 $30,000	 –––––––	 –––––––	 –––––––	 –––––––

	 Current ratio	 2	 1.33
Company A with the better current ratio is not superior to company B regarding 

its ability to pay short term debt. For this reason, the quick ratio (cash + receivables / 
current liabilities) is often regarded as a better measure to pay short term debt. In the 
above example, the quick ratios are;

	 Company A	 Company B
	 Quick ratio	 .5	 1.1667

Debt/Equity Ratio   -   The debt/equity ratios is:

	 Total debtD/E ratio   =	 –––––––––––
	 Total equity 

The debt/equity ratio is an important ratio in that it provides a measure of the 
risk assumed in a given business. As the amount of debt capital increases relative 
to equity capital, the greater is the risk. The term “risk” here refers either to the risk 
of not being able to repay principal or the ability to pay interest.  Studies have shown 
that a major factor for businesses failing or going into bankruptcy is because these 
businesses assumed too much debt and have yet to earn a satisfactory profit or no 
profit at all. Many start up businesses are undercapitalized meaning that the major 
source of financing was short term debt.

 A high debt/equity ratio can mean that when a company issues bonds, it may 
have to pay a must higher interest rate. If stock is being issued, then the investors 
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may require a higher  rate of return and try to achieve this higher rate by offering to 
buy at a much lower price per  share. Also, a high debt/equity, it is believed by many 
financial theorists, will increase a firm’s cost of capital.  Consequently, the investors 
will pay less for a share of common stock. It is in the interest of the company both 
in the short run and long run to keep the relationship of debt to equity in balance 
consistent with current profit performance.

As discussed in chapter 16, a company can increase its rate of return by employing 
the principle of leveraging. However, this strategy should be employed cautiously, if 
at all. Furthermore, the employment of this principle should be founded on a track 
record of successfully profits.

Operating Ratio- The operating ratio is:

	 Total expenses
Operating ratio   =	 ––––––––––––––
	 Sales

This ratio simply indicates what percentage of sales must be used to pay the 
expenses. The ratio standing alone is probably of little value.  There are two ways 
this ratio can be made useful. First, the company should compare the operating ratio 
to past ratios. In this manner, a possible trend can be detected. If the operating 
expenses as a percentage of sales is increasing from year to year, then reasons for 
the increases should be found. Secondly, the company should compare its operating 
ratio to other companies in the industries. If other similar companies have a lower 
ratio, then an investigation into the causes of the company’s higher ratio should be 
undertaken.

Profit Margin Ratio - Profit margin is simply another term for net income.  The 
profit margin percentage is:

	 Net income 
Profit margin %   =	 ––––––––––––
	 Sales

This ratio was discussed in some depth in chapter 16.  The duPont ROI formula 
discussed in chapter 16 makes use of the ratio. The duPont ROI formulas is 
basically:

	 Sales		  Earnings
ROI   =	 ––––––––––	 x	 –––––––
	 Investment		  Sales

This ROI  formulas  may be read as investment turnover times profit margin 
percentage. In the past, many companies looked upon the profit margin percentage 
as a measure of operating success. However, some critics many years ago  pointed 
out a company with the higher profit margin percentage did not necessarily have the 
higher rate of return. The weakness of the profit margin percentage standing alone is 
that it fails to take into account the amount of investment that is necessary to achieve 
a satisfactory  rate of return.   

Inventory turnover - There are a number of important inventory decisions as 
discussed previously in chapter 2 and chapter 11. The periodic analysis of inventory 
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is important. One of the tools that is commonly used is the inventory turnover ratio 
which may be defined as follows:

	 Cost of goods sold
Inventory turnover   =	 –––––––––––––––––
	 Average inventory

This ratio may be applied to either finished goods or raw materials.
As discussed in chapter 11, it is important to understand that cost of goods sold 

is simply in the current period is the cost of finished goods sold.  If the cost of one 
unit of finished goods is $30.00 and 1,000 units are sold, then cost of goods sold is 
$30,000, assuming no beginning inventory.  This fixed relationship between inventory 
and costs of goods sold makes possible for a meaningful inventory turnover ratio 
to be computed. Assume for the moment that cost of goods sold was $360,000 
and that average inventory is $30,000.  Consequently, the inventory ratio is 12 
($360,000/30,000). What does this turnover number mean?

First of all, if the company was open for business during the year for 360 days, 
then this means that on the average sales at cost were $1,000 or $30,000 per month.  
A turnover of 12 means it takes 30 days (one month) to sell $30,000 of finished 
goods. A turnover ratio expressed in calendar days is easier to understand.

The following schedule shows the calendar days associated with different 
inventory rates:

	 Inventory Turnover	 Calendar Days
	 1	 360
	 2	 180
	 4	 90
	 6	 60
	 9	 40
	 12	 30

One of the important questions is: what is the ideal turnover rate? In general, it 
is believed the higher the turnover rate the better has been the control of inventory 
by management. A rapid turnover of inventory is thought to be generally desirable. 
However, a higher turnover rate is not always desirable. Inventory levels are primarily 
determined by order size and the amount of safety stock. In terms of the affect on 
profit, it might be better to have a lower turnover rate.

To illustrate, assume that the K. L. Widget Company may, if it chooses to do so, 
purchase material as  a discount if it purchases in larger quantities:

	 Order Size	 Price
	 1    -    10,000	 $10.00
	 10,001 + 	 $  6.00

For the moment, let us assume that material is the only cost and that 1 unit of 
finished goods requires only 1 unit of material.  Price of the product is $20 per unit 
and the company produces and sells 20,000 units at this price.

Based on this information, we can prepare the following revenue and cost 
comparisons:
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Material Cost -$10.00
(Number of orders  - 5)

Material Cost $6.00
(Number of orders - 2)

Sales (20,000 units)	 $400,000
Cost of goods sold	 $200,000
	 ––––––––
Gross profit	 $200,000
	 ––––––––	 ––––––––
Average inventory	 $  20,000 
Inventory turnover	 10

Sales (20,000 units)	 $400,000
Cost of goods sold	 $120,000
	 ––––––––
Gross profit 	 $280,000
	 ––––––––	 ––––––––
Average inventory	 $  30,000
Inventory turnover	 4

We see in this example that a lower turnover is far more profitable. However, 
unless the additional carrying cost caused by the higher levels of inventory offsets 
any advantage, the best decision is to take advantage of the quantity discount, even 
though doing so lowers the inventory turnover.

Accounts Receivable Turnover-
Accounts receivable are generally considered a fairly liquid asset. They rank 

number two behind cash which is obviously the most liquid of assets. However, if 
accounts receivable are not paid on a timely basis or not collected at all, then they 
can easily become an expense. Poor management of accounts receivable can quickly 
become a signal that management is doing a poor job of running the business. It is 
commonly believed that the accounts receivable turnover ratio is an indicator of how 
well accounts receivable are being managed. The accounts receivable turnover ratio 
is:

	 Credit salesAccounts receivable turnover   =	 –––––––––––––––––––––––––––
	 Average accounts receivable

The general belief is that this ratio measures the number of times that accounts 
receivable are collected in a years times. However, this point of view is a bit difficult 
to grasp. In fact, the collection of receivables is an ongoing process. In order to make 
this ratio more understandable most writers then discuss how this turnover ratio can 
be used to compute how long it would take to collect the accounts receivables in 
days.

This procedure is based on this equation:
	 365Number of days in A/R   =	 –––––––––––––––––––––––––––––	 Accounts receivable turnover

To Illustrate:
Assume that the average balance of accounts receivable was $100,000 and that 

annual credit sales were reported as $1,200,000. The turnover ratio is therefore:
	 $1,200,000A/RTO =	 –––––––––––––	 =   12	 100,000

The number of days in accounts receivable therefore is:
	 360*Number of days   =	 ––––––	 =   30
	 12

*A year of 360 days for used for convenience.



Management Accounting | 327

The author, however, prefers another point of view regarding the meaning of this 
ratio. The turnover ratio is an indicator of the credit terms the company is offering. 
If credit terms are three months, then one would expect from the time the sale is 
made to the time of payment that the amount due would be paid in full  when 90 
days have passed. A accounts receivable turnover of 12 should imply credit terms 
of 1 month.  As just demonstrated, it is fairly easy to convert the turnover to days.

The following schedule shows what credit terms may be associated with different 
accounts receivable turnover ratios:

	 A/R turnover Ratios	 Days	 Credit terms 
	 12	 30 days	 1 months
	 9	 40 days	 11/4 months
	 6	 60 days	 2 months
	 3	 120 days 	 4 months
	 2	 180 days	 6 months
	 1	 360 days	 2 months

If a company is offering standard credit terms of 2 months and the actual 
turnover rate is 5 then this means that some customers are lagging behind in making 
payments. A turnover rate of 6, given that credit terms are 2 months,  means that on 
the average customers are making payments in time. Without a recognition of the 
credit terms and a comparison to these credit terms, the accounts receivable ratio 
has little value.

To fully understand the accounts receivable ratio, it is necessary to understand 
how different types of credit affect the ratio. Two types of credit will be briefly 
considered here:

1.	 Standard credit
2.	 Installment credit

Standard credit is simply the granting of a deferred period of time for payment 
and at the end of this time the full amount of the purchase price is due. In business, 
this type of credit typically ranges from 30 days to a year. A common practice is to 
grant terms of 2/10;n/30. This means that payment within 10 days receives a 2% 
discount or if the discount is not taken, then the full amount is due within 30 days. As 
given above, credit terms of 30 days should create an accounts receivable turnover 
of 12. 

In today’s modern retail economy, the type of credit that is frequently used is 
called installment credit. In this type of credit, the customer is required to make 
monthly payments of equal amounts until the balance is paid in full. Installment credit 
has a different affect on the accounts receivable turnover from standard credit.  

To illustrate the effect of installment credit, assume that we have two companies 
that are identical except that company A offers 3 months of standard credit and 
company B offers installment credit. Monthly sales of both companies are $3,600. 
In Figure 3 is show the corresponding days in inventory for credit terms of 3, 6, 9 
and 12.
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Figure 17-3 Comparison of Standard Credit and Revolving Credit

Company A
(Standard Credit)

monthly sales - $3,600

Company B
(Installment Credit)

Credit 
Terms
(months)

Maximum
A/R
Balance

A/R TO Days Credit 
Terms
(months)

Maximum
A/R
Balance

A/R TO Days

	 3 	$10,800 	 4.00 	 90 	 3 	 $  9,000 	 4.8 	 75

	 6 	$21,600 	 2.00 	 180 	 6 	 $12,600 	 3.42 	 105

	 9 	$32,400 	 1.23 	 270 	 9 	 $18,000 	 2.40 	 150

	 12 	$43,200 	 1.00 	 360 	 12 	 $23,400 	 1.846 	 195

In this example, the use of installment credit increases the accounts receivable 
turnover. In other words, the average balance is less and the balance is collected on 
the average sooner. This is true even though monthly sales are the same and the 
length of time to pay the full amount of purchase is the same.

The question is whether the traditional interpretation of the accounts receivable 
turnover ratio is valid concerning installment credit. In the above example, company 
B’s accounts receivable turnover was 4.8 indicating a turnover every 2.5 months (75 
days). However, in fact, the full length of time to collect a sale is 3 months. Since 
payments are being made each month, the average balance of accounts receivable 
will be lower than under standard credit terms. In addition, the above example did 
not take into account an interest charge that is usually added to the account balance 
each month on the unpaid balance.  In this event, the addition of interest would cause 
the principal payments to be smaller in the early payments and greater with the latter 
payments. 

The value of measuring accounts receivable turnover is not in examining just 
the  ratio of one operating period, but in comparing the current turnover  ratio to prior 
ratios.  If the ratio is getting smaller, this may mean that the customers are not making 
regular payments or are  skipping some payments. 

Other Ratios
In a corporation, one of the objectives of management is to increase the value 

of the stockholder’s stock. Two ratios are commonly used to provide a gauge of 
performance regarding common stock:

1.	 Price earnings ratio
2.	 Earnings per share

The price earnings ratio is:
	 Market value of stock
Price earnings ratio   =	 –––––––––––––––––––
	 Net income per share
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The earnings per share ratio is
	 Net income
Earnings per share   =	 –––––––––––––––––––––––––––––––––
	 Shares of commons stock outstanding

The larger these ratios the more favorable will the stockholders approve of the 
current management.

Summary
The use of ratios to evaluate operating and financial performance is important 

and is a universally used practice. While the use of ratios may highlight problems 
in certain performance areas, they are not able to actually provide solutions or 
suggest what decisions should be made to correct the problem or problems. If the 
problem appears to be a low inventory turnover rate, one approach might be to look 
at inventory models. As with other tools, the use of a particular tool might have to be 
supplemented with the use of other tools. 

The ratios discussed in this chapter having relevance to evaluating operating 
performance were the following:

Income Statement Ratios
	 Operating ratio
	 Profit margin percentage
	 Gross profit percentage

Balance Sheet Ratios
	 Current ratio
	 Debt/equity ratio

Inter statement ratios
	 Return on investment (assets)
	 Return on Investment (equity)
	 Investment turnover ratio
	 Inventory turnover
	 Accounts receivable turnover
	 Earnings per share
	 Price earnings ratio

The prerequisite to understanding these ratios is a solid understanding of the 
nature and purpose of financial statements.

	 Q.17-1	 List some ratios that are strictly income statement ratios.

	 Q. 17-2	 List some ratios that are strictly balance sheet ratios.

	 Q. 17-3	 List some ratios that are inter-statement ratios.

	 Q 17-4	 The accounts receivable turnover ratio for the Ajax Manufacturing 
Company was determined to be 6. What does a turnover of 6 mean?
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	 Q. 17-5	 The inventory turnover ratio of the Ajax Manufacturing Company was 
determined to be 4. What does a turnover of 4 mean?

	 Q. 17-6	 If a company has a current ratio of less than one, what kinds of problems 
are suggested by this extremely low ratio:

	 Q. 17-7	 How is working capital defined in accounting?

	 Q. 17-8	 What financial problems are suggested by a high debt/equity ratio?

	 Q. 17-9	 The Ajax manufacturing company earned $1,000,000 last year. Should  
management be content with earnings of this amount? What ratio 
would you suggest  be used to determine if this amount of income is 
satisfactory?

	 Q. 17-10	 The management of the Ajax Manufacturing Company realizes it is over 
stocked in finished goods inventory.  What ratio would reveal this fact?

	 Q. 17-11	 The management of the Ajax Manufacturing Company realizes that it 
has a problem collecting accounts receivable. Customers for the most 
part are paying but typically they have been paying a month late. What 
ratio would reveal this fact?

	 Q.17-12	 The management of the Ajax Manufacturing Company is concerned that 
the market value of its stock has declined in the past several months. 
What ratios might  indicate why this has happened?

Exercise 17.1 • Ratio Analysis

You have been provided the following comparative balance sheet and income 
statement.

K. L. Widget Company
Income Statement

For the Year Ended, December 31, 2008

Sales	 $150,000
Expenses
	 Cost of goods sold	 $ 80,000
	 Operating expenses	 30,000
	 Interest	 8,000
	 Income tax	 13,000
		  ––––––––
	 Total expenses		  $131,000
 	 –––––––––	
Net operating income		  $  19,000
 	 –––––––––	
Other Income:
	 Gain on sale of equipment		  10,000
	 –––––––––
Net income		  $29,000	 –––––––––	 –––––––––
Note: All sales were made on credit.
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K. L. Widget Company
Balance Sheet

	 Dec. 31, 2008	 Dec. 31, 2007
Assets
	 Current
		  Cash	 $  95,000	 $  78,000
		  Accounts receivable	 60,000	 82,000
		  Finished goods	 25,000	 50,000
		  Materials inventory	 110,000	 80,000	 –––––––––	 –––––––––
			   Total current assets	 $290,000 	 $290,000	 –––––––––	 –––––––––
Plant and Equipment
		  Plant and equipment	 $100,000	 95,000
		  Allowance for deprecation	 20.000	 18.000	 –––––––––	 –––––––––
			   Total plant and equipment	 $80,000	 $  77,000	 –––––––––	 –––––––––
		  Total assets	 $370,000	 $367,000	 –––––––––	 –––––––––	 –––––––––	 –––––––––

Liabilities
	 Current
		  Accounts payable	 $150,000	 $  60,000
		  Notes payable	 20,000	 30,000
		  Taxes payable	 8,000	 13,000	 –––––––––	 –––––––––
			   Total current	 $  78,000	 $103,000
	 Long term:
		  Bonds payable	 $150,000	 $  90,000	 –––––––––	 –––––––––
	 Total Liabilities	 $250,000	 $190,000

Stockholders’ Equity
		  Common stock	 $100,000	 $120,000
		  Retained earnings	 12,000	 44,000	 –––––––––	 –––––––––
					    $112,000	 $164,000	 –––––––––	 –––––––––
	 Total liabilities and stockholders’ equity	 $370,000	 $367,000	 –––––––––	 ––––––––– 		 –––––––––	 –––––––––
The company common stock has a market value per share of $20.
The company has 10,000 shares of stock outstanding.

Required
Based on the above financial statements, compute the following ratios for the year 

2008:
1.	 Profit margin percentage
2.	 Operating ratio
3.	 Return on investment (assets)
4.	 Current ratio
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5.	 Debt/equity ratio
6.	 Accounts receivable turnover
7.	 Finished goods inventory turnover
8.	 Earnings per share
9.	 Price earnings ratio

Exercise 17.2 
As one of the accountants for the K. L. Widget Company, you have you been 

provided the following comparative financial statements. You have been asked to 
computer various ratios based on these statements.

K. L. Widget Company
Income Statement

For the Year Ended, December 31, 2008

Sales				    $200,000
	 Expenses
		  Cost of goods sold	 $90,000
		  Operating expenses	 35,000
		  Interest	 13,000
		  Income tax	 15,000	 ––––––––

			   Total expenses		  $153,000	 –––––––––	 –––––––––

	 Net operating income		  $ 47,000
	 Other Income/expenses
		  Loss on sale of equipment		  8,000	 –––––––––
	 Net income		  $39,000	 –––––––––	 –––––––––
Note: All sales were made on credit.

K. L. Widget Company
Balance Sheet

	 Dec. 31, 2008	 Dec. 31, 2007
Assets
	 Current
		  Cash	 $100,000	 $  82,000
		  Accounts receivable	 80,000	 92,000
		  Finished goods	 51,000	 40,000
		  Materials inventory	 90,000	 100,000	 ––––––––– 	 ––––––––
			   Total current assets	 $321,000	 $314,000	 ––––––––– 	 ––––––––
	 Plant and Equipment
		  Plant and equipment	 $150,000	 125,000
		  Allowance for deprecation	 30.000	 25,000	 ––––––––– 	 ––––––––
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			   Total plant and equipment	 $180,000	 $150,000	 ––––––––– 	 ––––––––
		  Total assets	 $501,000	 $464,000	 ––––––––– 	 ––––––––	 ––––––––– 	 ––––––––
Liabilities
	 Current
		  Accounts payable	 $160,000	 $100,000
		  Notes payable	 20,000	 50,000
		  Taxes payable	 15,000	 13,000	 ––––––––– 	 ––––––––
			   Total current	 $195,000	  $163,000
	 Long term:
		  Bonds payable	 $180,000	 $100,000	 ––––––––– 	 ––––––––
		  Total Liabilities	 $375,000	 $263,000
Stockholders’ Equity
		  Common stock	 $100,000	 $90,000
		  Retained earnings	 26,000	 11,000	 ––––––––– 	 ––––––––
				    $126,000	 $101,000	 ––––––––– 	 ––––––––
		  Total liabilities and stockholders’ equity	 $501,000	 $464,000	 ––––––––– 	 ––––––––	 ––––––––– 	 ––––––––
The company common stock has a market value per share of $5.
The company had 10,000 shares of stock outstanding in 2007 and 
11,000 shares in 2008.
Required: 

Based on the above financial statements, compute the following ratios for the year 
2008:

1.	 Profit margin percentage
2.	 Operating ratio
3.	 Return on investment (assets)
4.	 Current ratio
5.	 Debt/equity ratio
6.	 Accounts receivable turnover
7.	 Finished goods inventory turnover
8.	 Earnings per share
9.	 Price earnings ratio
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Exercise 17.3
The Ace Manufacturing Company has since its beginning experienced considerable 

financial problems. Following is the company’s last two balance sheets and income 
statements.

Based on these statements identify the various problems the company has 
experienced by computing various ratios. 

Ace Manufacturing Company
Balance Sheets

	 Dec. 31, 2007	 Dec. 31, 2008
Assets
	 Cash	 $30,000	 $  15,000
	 Accounts receivable	 100,000	 120,000
	 Merchandise inventory	 40,000	 100,000
	 Store building	 500,000	 500,000
	 Accumulated depreciation	 (20,000)	 (40,000)
	 Furniture and Fixtures	 100,000	 100,000
	 Accumulated depreciation	 (5,000)	 (10,000)	 ________ 	 ________
		  Total assets	 $745,000	 $785,000	 ________ 	 ________	 ________ 	 ________
	 Liabilities
	 Accounts payable	 $80,000	 $150,000
	 Notes payable (6 month note)	 50,000	 75,000
	 Bonds payable	 200,000	 200,000
	 Note payable (10 year note)	 150,000	 250,000	 ________ 	 ________
	 Accrued taxes payable
		  Total liabilities	 480,000	 675,000	 ________ 	 ________
Stockholders’ Equity
	 Common stock	 300,000	 300,000
	 Retained earnings	 (35,000)	 (190,000)	 ________ 	 ________
		  Total liabilities & Equity	 265,000	 110,000	 ________ 	 ________
			   $745,000	 $785,000	 ________ 	 ________	 ________ 	 ________

Ace Manufacturing Company
Income Statements

	 2007	 2008	 –––––––––– 	 ––––––––––
Sales	 $1,001,000	 $  900,000
Cost of goods sold	 400,000	 390,000	 –––––––––– 	 ––––––––––
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Gross margin	 $   601,000	 $  510,000	 –––––––––– 	 ––––––––––
Operating expenses
	 Selling expenses	 450,000	 300,000
	 General and administrative	 200,000	 315,000	 –––––––––– 	 ––––––––––
		  $   650,000	 $  615,000	  	 –––––––––– 	 ––––––––––
Net operating income/(loss)	 ($   49,000)	 ($105,000)
	 Income tax expense	 -0- 	 -0-
	 Interest	 $     38,000	 $   50,000	 –––––––––– 	 ––––––––––
Net income/(loss)	 ($   77,000)	 ($155,000)	 –––––––––– 	 ––––––––––	 –––––––––– 	 ––––––––––



  336  | CHAPTER SEVENTEEN • Financial Statement Ratio Analysis


